Writing Equations WE3

Writing Slope-Intercept Equations Name _ j{@/‘

Homework Date - Period

Given one of the representations below, find the other two.
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Writing Equations WE3

a. Identify the slope and y—intercept.
W\ . BO @r‘*lr\‘-{. :,
b. Write the equation of the line.
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_ d. When WI” Amy have $730 in her account?
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a. Identify the slope and y— an’rercep’r
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b. Write the equation of the ime ) . .
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Create a situation for the given slope and y-intercept.
6. slope = 10:(0,25) 7. slope = -5; (0, 500) 8. slope = 4; (0, 0)
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Write an equation for the line with the given slope and y-intercept.
9. slope=1; (0, 10) 10. slope = 0; (0, -3) 11, slope = = (0, — )
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12. m=20; b=100 13. m=-3;b=0 14 m=-1b=-7
U= 20x +10C Y= 23X Y= =X~ ]
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